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MONTHLY TEST – MAY, 2023 
 

1. The scientist who proposed Big Bang Theory was 
a. Abbe Georges Lemaitre  b. Edwin Hubble 
c. Nicholas Copernicus   d. Aryabhatta 
e. Answer not known 
ngU ntbg;G Nfhl;ghl;il Kjd; Kjypy; ntspapl;lth; 
a. mg;Ng [pahh;[]; yNka;l;nlh;  b. vl;tpd; `g;y; 
c. epf;Nfhy]; Nfhgh;epf];   d. Mhpagl;lh 

e. tpil njhpatpy;iy 
 

2. Ceres is a _______.  
a. Meteor  b. Star    c. Planet   
d. Astroid   e. Answer not known 
nru]; vd;gJ __________.  
a. tpz;fy;  b. tpz;kPd;    c. Nfhs;   

d. rpWNfhs;  e. tpil njhpatpy;iy 
 

3. The apparent movement of the Sun is overhead the Equator twice a year 
on 
a. Dec 22 and Mar 21   b. Mar 21 and Sep 23 
c. Jun 21 and Dec 22   d. Sep 23 and Dec 22 
e. Answer not known 
#hpad; g+kj;jpa Nuifapy; jiyf;F Nky; te;J ,Ug;gJ Nghd;w ,aq;F 
Njhw;wk; Mz;bw;F ,UKiw tUtJ 
a. brk;gh; 22 kw;Wk; khh;r; 21  b. khh;r; 21 kw;Wk; nrg;lk;gh; 23 
c. [{d; 21 kw;Wk; brk;gh; 22  d. nrg;lk;gh; 23 kw;Wk; brk;gh; 22 
e. tpil njhpatpy;iy 

 
4. The windiest planet is 

a. The Saturn b. The Neptune   c. The Jupiter  
d. The Mars  e. Answer not known 
fhw;W mjpfkhf cs;s Nfhs; vJ? 
a. rdp   b. neg;ba+d;    c. tpahod;   
d. nrt;tha;  e. tpil njhpatpy;iy 
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5. Concentration of the Ag+ ions in a saturated solution of Ag2C2O4 is 2.24 
ù10-4 mol L-1 solubility product of Ag2C2O4 is  
a. 2.42 ù 10-8 mol3 L-3   b. 2.66 ù 10-22 mol3 L-3 
c. 4.5 ù 10-11 mol3 L-3   d. 5.619 ù 10-12 mol3L-3 

e. Answer not known 
xU Ag2C2O4 ,d; njtpl;ba fiurypy; cs;s Ag+ madpfspd; nrwpT 
12.24 104 mol L-1 vdpy;> Ag2C2O4 ,d; fiujpwd; ngUf;f kjpg;G  
a. 2.42 ù 10-8 mol3 L-3   b. 2.66 ù 10-22 mol3 L-3 
c. 4.5 ù 10-11 mol3 L-3   d. 5.619 ù 10-12 mol3L-3 

e. tpil njhpatpy;iy 
 

6. Which will make basic buffer? 
a. 50 mL of 0.1 M NaOH + 25 mL of 0.1 M Ch3 COOH 
b. 100 mL of 0.1M CH3COOH + 100mL of 0.1M NH4OH  
c. 100 mL of 0.1M HCl + 200 mL of 0.1M NH4OH  
d. 100 mL of 0.1 M HCl + 100 mL off 0.1 M NaOH  
e. Answer not known 
vJ fhuf; jhq;fy; fiuriy cUthf;Fk;?  
a. 50 mL of 0.1 M NaOH + 25 mL of 0.1 M Ch3 COOH 
b. 100 mL of 0.1M CH3COOH + 100mL of 0.1M NH4OH  
c. 100 mL of 0.1M HCl + 200 mL of 0.1M NH4OH  
d. 100 mL of 0.1 M HCl + 100 mL off 0.1 M NaOH  
e. tpil njhpatpy;iy 

 
7. Apple contains malic acid. Orange contains _____  

a. phosphoric acid  b. ascorbic acid   c. tartaric acid 
d. Oxalic acid  e. Answer not known 

 Mg;gpspy; cs;s mkpyk; khypf; mkpyk;. MuQ;rpy; cs;s mkpyk; 
 __________  

a. gh];Nghhpf; mkpyk;  b. m];fhh;gpf; mkpyk; c. lhh;lhhpf; mkpyk; 
d. Mf;rhypf; mkpyk; e. tpil njhpatpy;iy 

  
8. The aqueous solutions of Sodium formate, anilinium chloride and 

potassium cyanide are respectively  
a. Acidic, acidic, base   b. basic, acidic, basic  
c. basic, neutral, basic   d. none of these  
e. Answer not known 
 Nrhbak; /ghh;Nkl;> mdpyPdpak; FNshiuL kw;Wk; nghl;lhrpak; raidL 
Mfpatw;wpd; ePh; fiury;fs; KiwNa  
a. mkpyk;> mkpyk;> fhuk;  b. fhuk;> mkpyk;> fhuk;  

c. fhuk;> eLepiy> fhuk;  d. ,tw;wpy; VJkpy;iy  
e. tpil njhpatpy;iy 
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9. The pH of an aqueous solution is Zero. The solution is  
a. Slightly acidic   b. Strongly acidic    c. Neutral   
d. Basic    e. Answer not known 
xU ePhpa fiurypd; pH kjpg;G G+[;[pak;> vdpy; me;j fiury;  

a. rpwpjsT mkpyj;jd;ik nfhz;lJ b. mjpf mkpyj;jd;ik nfhz;lJ 
c. eLepiyj; jd;ik nfhz;lJ  d. fhuj; jd;ik nfhz;lJ  
e. tpil njhpatpy;iy 

 
10. Golden rice is a genetically modified crop.  Where the incorporated gene 

is meant for biosynthesis of 
a. Vitamin A  b. Vitamin B    c. Vitamin C  
d. Vitamin D  e. Answer not known 
Nfhy;ld; mhprp vd;gJ xU kugZ khw;wg;gl;l gaph; MFk;. ,jpy; 
xUq;fpize;j kugZ caphpa nrwpTf;fhdJ. 
a. tpl;lkpd; A  b. tpl;lkpd; B   c. tpl;lkpd; C 
d. tpl;lkpd; D  e. tpil njhpatpy;iy 

 
11. A codon is a sequence of 3 nucleotides on 

a. t-RNA   b. m-RNA    c. r-RNA  
d. hn- RNA   e. Answer not known 
Nfhlhd; vd;gJ ,jd; njhlhpy; %d;W epa+f;spNahilLfs; MFk; 
a. b.Mh;.vd;.V  b. vk;.Mh;.vd;.V   c. Mh;.Mh;.vd;.V  

d. vr;.vd;.Mh;.vd;.V  e. tpil njhpatpy;iy 
 

12. Difference between RNA and DNA is that of  
a. Phosphate and sugar  
b. Phosphate and Nitrogenous base 
c. Nucleoside and nucleotide  
d. Sugar and nitrogenous base  
e. Answer not known 
Mh;.vd;.V kw;Wk; b.vd;.V –f;Fk; ,ilapy; cs;s NtWghL vd;gJ 
a. gh];Ngl; kw;Wk; rh;f;fiuapy; cs;sJ 
b. gh];Ngl; kw;Wk; iel;uh[pd]; Ng];-y; cs;sJ 
c. epa+f;spNahirL kw;Wk; epa+f;spNahilby; cs;sJ 
d. rh;f;fiu kw;Wk; iel;u[dpy; Ng];-y; cs;sJ 
e. tpil njhpatpy;iy 

 
13. The enzyme that joins DNA fragments is 

a. Restriction endonuclease b. Lipase    c. Ligase 
d. Peroxidase   e. Answer not known 
b.vd;.V. Jz;Lfis xl;Ltjw;F gad;gLj;jg;gLk; nehjp  
a. nu];bhpf;~d; vd;Nlh epA+f;ypNa]; b. iyg;Ng];  c. iyNf]; 

d. nguhf;]pNl];     e. tpil njhpatpy;iy 
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14. Consider the following statements 
Siamese twins means  
1. Twins fail to separate completely from each other  
2. Twins have no variability 
a. 1 is correct and 2 is wrong  b. 1 is wrong and 2 is correct 
c. Both 1 and 2 are correct  d. Both 1 and 2 are wrong  
e. Answer not known 
fPo;fz;l thf;fpaq;fis ftdp 
rpakp]; ,ul;ilah; vd;gJ 
1. ,ul;ilah;fs; xUthplkpUe;j xUth; KOikahf gphpahjpUj;jy; 
2. ,ul;ilah;fspilNa NtWghL fhzg;gLtjpy;iy. 
rhpahd tpilia Njh;e;njLf;fTk;. 
rhp jtW kw;Wk; 
a. 1 rhp 2 jtW  b. 1 jtW 2 rhp   c. 1 kw;Wk;2 rhp 
d. 1 kw;Wk; 2 jtW  e. tpil njhpatpy;iy 

 
15. Consider the following statement: 

1. North-Western part of India get rainfall during North-East monsoon 
2. In India, Red panda is found in the western Himalayas 
3. Tamil Nadu get much rainfall during South-West monsoon 
Which of the statements(s) given above is/are correct? 
a. only 1   b. Only 2   c. Both 1 and 2  
d. Both 3 and 1  e. Answer not known  
fPNo nfhLf;fg;gl;Ls;s thf;fpaj;ijf; ftdp. 
1. ,e;jpahtpd; tl-Nkw;F gFjp> tl fpof;F gUtf;fhw;W fhyq;fspy; 

kioia ngUfpwJ 
2. ,e;jpahtpd; Nkw;F ,ka kiyg;gFjpfspy; rptg;G ghz;lh 

fhzg;gLfpwJ.  
3. njd;Nkw;F gUtf;fhw;W fhyj;jpy; jkpo;ehL mjpf msT kioia 

ngWfpd;wJ.  
NkNy nfhLf;fg;gl;Ls;s thf;fpaj;jpy; vit(fs;) rhpahdJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2  
d. 3 kw;Wk; 1  e. tpil njhpatpy;iy 

 
16. Which type of rainfall is closely associated with Equatorial Region? 

a. Orographic rainfall  b. Frontal or cyclonic rainfall 
c. Convectional rainfall  d. Monsoon rainfall 
e. Answer not known 
G+kj;jpag; gFjpapy; nghopAk; kioapd; tif  
a. kiy jil kio   b. tspKf my;yJ Gay; kio  
c. ntg;gryd kio  d. gUtf; fhw;W kio  
e. tpil njhpatpy;iy 
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17. “Southerly trades on crossing the equator are deflected to the right” is 
proposed by the ______ 
a. Humbolt law  b. Buy Ballot’s law   c. Ferrel’s law 
d. Newton’s law  e. Answer not known 
njd; tpahghuf; fhw;W Gtpapil Nfhl;il fle;jgpd; tyJ Gwkhf tpyfpr; 
nry;fpwJ vd;gij $wpAs;s tpjp  
a. `k;Nghy;l; tpjp  b. ig Ngyl; tpjp    c. /nguy;]; tpjp   

d. epa+l;ld; tpjp   e. tpil njhpatpy;iy 
 
18. Match the followings 

A. Winter season    1. Mid September – November 
B. Summer Season    2. June – September 
C. The South-West Monsoon season 3. November – March  
D. The North-East Monsoon season 4. March – June 
 A B C D 
a. 3 1 4 2 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf 
A. Fsph;fhyk;    1. kj;jpa nrg;lk;gh; - etk;gh; 

B. Ntdpw;fhyk;    2. [_d; - nrg;lk;gh; 
C. njd;Nkw;F gUt fhw;W fhyk; 3. etk;gh; - khh;r; 
D. tlfpof;F gUtfhw;W fhyk;  4. khh;r; - [_d; 

 A B C D 
a. 3 1 4 2 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
19. Which Monsoon area does India comes under? 

a. Area of monsoonal tendencies b. Area of Monsoon effects 
c. Area of modified monsoon  d. Area of true monsoon 
e. Answer not known 
,e;jpah vt;tpj gUtepiy gFjpf;F fPo; cs;sJ?  
a. kiof;fhy Nghf;Ffspd; gFjp  b. gUtkio tpisT gFjp 
c. khw;wg;gl;l gUtepiy gFjp  d. cz;ikahd gUtkio gFjp 
e. tpil njhpatpy;iy 
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20. The writing method of Indus Script was 
a. From left to right only    
b. From right to left only 
c. From left to right and right to left  
d. From right to left and left to right 
e. Answer not known 
rpe;J rkntsp vOj;J Kiw vd;gJ 
a. ,lkpUe;J tykhf vOJtJ kl;Lk;  

b. tykpUe;J ,lkhf vOJtJ  kl;Lk;  
c. ,lkpUe;J tykhf vOJtJ kw;Wk; tykpUe;J ,lkhf  

d. tykpUe;J ,lkhf kw;Wk; ,lkpUe;J tykhf vOJtJ 

e. tpil njhpatpy;iy 
 
21. The largest number of seals of the Harappan Culture are made of  

a. Terracoltta   b. Bronze     c. Copper   
d. Steatite    e. Answer not known 
kpfg;nghpa vz;zpf;ifapyhd `ug;gh ehfhPfj;jpd; Kj;jpiufs; vjdhy; 
cUthf;fg;gl;lJ? 
a. Rl;lkz;   b. jhkpuk;    c. nrk;G  

d. nkd; fw;fs;  e. tpil njhpatpy;iy 
 

22. In Indus valley civilization the great granary found at Harappa in 
a. West of the citadel   b. North of the citadel 
c. East of the citadel   d. South of the citadel 
e. Answer not known 
rpe;J rkntsp ehfhpfj;jpy; `ug;ghtpy; fz;Lgpbf;fg;gl;l jhdpaf; fplq;F 
mike;Js;s ,lk;  
a. Nfhl;ilapd; Nkw;F gFjp   b. Nfhl;ilapd; tlf;F gFjp  
c. Nfhl;ilapd; fpof;F gFjp  d. Nfhl;ilapd; njw;F gFjp  
e. tpil njhpatpy;iy 

 

23. The sequence in which the given terms are mentioned in the preamble to 
the constitution of India is: 
a. Sovereign, Socialist, Secular, Democratic, Republic 
b. Socialist, Secular, Sovereign, Democratic, Republic 
c. Secular, Sovereign, Democratic, Socialist, Republic 
d. Sovereign, Democratic, Secular, Socialist, Republic 
e. Answer not known 
murpayikg;gpy; Kfg;Giuapy; Fwpg;gplg;gl;Ls;s nfhs;ifapd; rhpahd 
thpir.  
a. ,iwahz;ik> rkjh;kk;> rkarhh;gw;w kf;fshl;rp> Fbahl;rp  
b. rkjh;kk;> rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> Fbahl;rp  
c. rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> rkjh;kk;> Fbahl;rp  
d. ,iwahz;ik> kf;fshl;rp> rkarhh;gw;w> rkjh;kk;> Fbahl;rp  
e. tpil njhpatpy;iy 
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24. Who initiated the preamble objectives resolution? 
 a. Jawaharlal Nehru  b. BN Rau   c. KM Munshi 

d. BR Ambedkar   e. Answer not known 
 KfTiuapd; Fwpf;Nfhs; jPh;khdj;ij ahh; nfhz;L te;jJ?  
 a. [t`h;yhy; NeU  b. gp.vd;. uht;  c. Nf.vk;. Kd;~p 

d. gp.Mh;. mk;Ngj;fh;   e. tpil njhpatpy;iy 
 
25. On which date the objectives Resolutions was adopted by the Constituent 

Assembly? 
a. January 22nd 1947 b. November 26th 1949 c. January 26th 1950 
d. January 22nd 1950 e. Answer not known 
,e;jpa murpayikg;G eph;za rig ve;ehspy; Fwpf;Nfhs; jPh;khdj;ij 
Vw;Wf; nfhz;lJ? 
a. [dthp 22> 1947  b.  etk;gh; 26> 1949  c. [dthp 26> 1950  
d. [dthp 22> 1950  e. tpil njhpatpy;iy 

 
26. Find the simple interest and the amount due on Rs 6, 750 for 219 days at 

10% per annum 
a. Rs. 415  b. Rs. 395    c. Rs. 425 
d. Rs. 405  e. Answer not known 
Rs. 6> 750f;F 219 ehl;fSf;F 10% tl;b tPjk; jdptl;b fhz;f. 
a. Rs. 415  b. Rs. 395    c. Rs. 425 
d. Rs. 405  e. tpil njhpatpy;iy 

 
27. At what time will a sum of Rs. 3,000 will amount to Rs. 3,993 at 10% p.a. 

compounded annually. 
a. 4 years   b. 1 year   c. 2 years 
d. 3 years   e. Answer not known 
mry; &. 3>000 Mz;Lf;F 10% $l;L tl;b tPjg;gb> &. 3>993 Mf vj;jid 
Mz;Lfs; MFk;? 
a. 4 Mz;Lfs;  b. 1 Mz;L   c. 2 Mz;Lfs; 
d. 3 Mz;Lfs;  e. tpil njupatpy;iy 

 
28. What is the value of k in the number 5k3457, when the number is 

completely, divisible by 11? 
a. 1  b. 2  c. 3  d. 5  e. Answer not known 
5k3457 vd;w vz;zhdJ 11-My; kPjkpd;wp tFgLfpwJ vdpy; k-d; kjpg;G 
fhz; 
a. 1  b.2  c. 3  d. 5       e. tpil njhpatpy;iy 
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29. In Simple Interest, a sum of money amounts to Rs. 6,200 in 2 years and Rs. 
6,800 in 3 years. Find the principal and rate of interest. 
a. Rs. 4,000, i = 15% b. Rs. 5,000, i = 12% c. Rs. 6,000, i = 10% 
d. Rs. 3,000, i = 20% e. Answer not known 
xU njhif xU Fwpg;gpl;l jdptl;b tPjj;jpy; 2 Mz;Lfspy; Rs. 6>200 
vdTk; 3 Mz;Lfspy; Rs. 6>800 vdTk; cah;fpwJ vdpy; me;j 
njhifiaAk;> tl;b tPjj;ijAk; fhz;f. 
a. Rs. 4,000, i = 15% b. Rs. 5,000, i = 12% c. Rs. 6,000, i = 10% 
d. Rs. 3,000, i = 20% e. tpil njhpatpy;iy 

 

30. If the compound interest on a certain sum at 16
2

3
 % for 3 years is Rs. 1,270. 

Find the simple interest on the same sum at the same rate and for the 
same period. 
a. Rs. 1,080   b. Rs. 1,000   c. Rs. 1,090 
d. Rs. 1,070   e. Answer not known 

xU njhifapy; $l;Ltl;b 16
2

3
 %f;F 3 Mz;LfSf;F &. 1>270 tl;bahf 

fpilf;fpwJ vdpy; mNj njhiff;F jdptl;b tPjj;jpy; 3 Mz;L Kbtpy; 
fpilf;Fk; tl;bj; njhif vt;tsT? 
a. &. 1>080   b. &. 1>000   c. &. 1>090 
d. &. 1>070   e. tpil njhpatpy;iy 

 
31. The word 'Secularism' was inserted in the preamble of the constitution 

after supreme court of India observed 'Secularism' was a basic feature of 
constitution in 
a. 1975   b. 1973    c. 1976   
d. 1981   e. Answer not known 
‘kjr;rhh;gpd;ik’ vd;w thh;j;ij> murpayikg;G rl;lj;jpd; Kfg;Giuapy; 
,izf;fg;gl;ljw;F Kd;dNu cr;rePjpkd;wk; ‘kjr; rhh;gpd;ik’ murpayikg;Gr; 
rl;lj;jpd; mbg;gil $Wfspy; xd;W vd;W $wpa Mz;L vJ? 
a. 1975   b. 1973    c. 1976  
d. 1981   e. tpil njhpatpy;iy 

  
32. Match the key words in the preamble of the Indian Constitution with their 

meanings. 
A. Sovereign 1. Opportunities for the development of individual 
   personalities 
B. Republic  2. No discrimination on the basis of colour, caste, sex, 
   religion etc. 
C. Liberty  3. Head of the State is elected directly or indirectly by 
   the people 
D. Equality  4. No Supreme authority above it 
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 A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c. 2 1 3 4 
d. 1 4 2 3 
e. Answer not known 
 
,e;jpa mikg;gpd; KfTiuapYs;s Kf;fpa nrhw;nwhlh;fis mitfspd; 
nghUs;fNshL nghUj;Jf: 
A. ,iwahz;ik 1. jdpegh; Fzq;fspd; Nkk;ghl;bw;f;fhd tha;g;Gfs; 
B. FbauR   2. epwk;> [hjp> ,d> kjk; kw;Wk; gpwtw;wpd;  

mbg;gilapy; ghFghL ,y;iy  
C. Rje;jpu chpik 3. murpd; jiyth; Neubahf my;yJ kiwKfkhf  

kf;fshy; Njh;e;njLf;fg;gLgth; 
D. rkj;Jtk; 4.  mjw;F Nkyhd cr;r mjpfhuk; ,y;iy 

 A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c. 2 1 3 4 
d. 1 4 2 3 
e. tpil njhpatpy;iy 

 
33. Consider which one of the following statement is not correct? 

1. President should be a citizen of India 
2. President must have completed the ages of 30 years 
3. President should be qualified to become the member of the Lok Sabha 
4. President should not hold any office of profit under the Government 
a. 1  b. 2  c. 3  d. 4  e. Answer not known 
fPo;f;fz;ltw;Ws; vJ jtwhd tpil? 
1. FbauRj; jiyth; ,e;jpahtpd; Fbkfdhf ,Uf;f Ntz;Lk; 
2. FbauRj; jiyth; 30-tJ Kbe;jtuhf ,Uf;f Ntz;Lk; 
3. FbauRj; jiyth; kf;fsit cWg;gpdUf;Fhpa jFjp ngw;wpUf;f 

Ntz;Lk; 
4. FbauRj; jiyth; murhq;fj;jpy; Cjpak; ngWk; gjtpapy; 

,Uj;jyhfhJ 
a. 1  b. 2  c. 3  d. 4  e. tpil njhpatpy;iy 

 
34. Which one of the following statement is not correctly matched? 

a. Article 53 – deals with the Executive Authority of President 
b. Article 54 – deals with the Election of the President 
c. Article 55 – deals with the qualification of the President 
d. Article 56 – deals with the Term and Removal of the President 
e. Answer not known 
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gpd;tUtdtw;Ws; ve;j thf;fpak; jtwhf ,izf;fg;gl;Ls;sJ vJ? 

a. tpjp 53 - [dhjpgjpapd; eph;thf mjpfhuk; gw;wp $WfpwJ.   
b. tpjp 54 - [dhjpgjp Njh;e;njLf;fg;gLk; Kiw gw;wpaJ   
c. tpjp 55 - [dhjpgjpapd; jFjpfs; gw;wp $WfpwJ    
d. tpjp 56 - [dhjpgjpapd; gjtpf; fhyk; kw;Wk; gjtp tpyfy; gw;wpaJ 
e. tpil njhpatpy;iy 

 
 
35. Who among the following was considered as the "Father of Indian 

Uprising"? 
a. Bal Gangadhar Tilak  b. Bipin Chandra Pal c. C.R. Das  
d. Gopala Krishna Gokhale e. Answer not known 
,e;jpa vOr;rpapd; je;ij vdf; fUjg;gl;lth; ahh;?  
a. ghy fq;fhju jpyfh;   b. gpgpd; re;jpu ghy;  c. rp.Mh;. jh];  

d. Nfhghy fpU~;z NfhfNy  e. tpil njhpatpy;iy  
 
36. In which year Shivaji Movement was started by Tilak 

a. 1897 b. 1893 c. 1895 d. 1891 e. Answer not known 
rpth[p ,af;fk; jpyfuhy; njhlq;fg;gl;l Mz;L 
a. 1897 b. 1893 c. 1895 d. 1891 e. tpil njhpatpy;iy 

 
37. Choose the correct statements: 

i. The partition of Bengal in 1905 was the most striking example of the 
British divide and rule policy 

ii. In the Calcutta meeting 1905 Surendranath Banerjee gave a call for 
the boycott of British goods and institutions. 

iii. On 7th August 1905 at Town Hall meeting in Calcutta, a formal 
proclamation of Swadeshi movement was made  

Which of the statements given above is/are correct? 
a. i only    b. i and iii only  c. i and ii only 
d. i, ii and iii are correct  e. Answer not known 
rhpahd $w;;Wfis Njh;f 
i. 1905-,y; Nkw;nfhs;sg;gl;l tq;fg; gphptpid Mq;fpNyahpd; 

gphpj;jhSk; nfhs;iff;F kpfr; rpwe;j cjhuzkhFk;. 
ii. 1905-,y; eilngw;w nfhy;fj;jh khehl;by; RNue;jpuehj; ghdh;[p 

gphpl;b~; nghUl;fisAk; epWtdq;fisAk; Gwf;fzpf;f 
miog;GtpLj;jhh;. 

iii. 1905 Mf];l; 7-,y; nfhy;fj;jh efu muq;fpy; eilngw;w $l;lj;jpy; 
RNjrp ,af;fk; Fwpj;j Kiwahd mwptpg;G toq;fg;gl;lJ. 

a. i kl;Lk;    b. i kw;Wk; iii kl;Lk;  c. i kw;Wk; ii kl;Lk; 
d. i, ii kw;Wk; iii rhpahdJ e. tpil njhpatpy;iy 
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38. National Anthem was sung on 27th December 1911, at the ___________ 
session of Indian National Congress. 
a. Calcutta  b. Delhi   c. Bombay  
d. Madras  e. Answer not known 
27 brk;gh; 1911-y; Njrpa fPjk; Kjd; Kjypy; ,e;jpa Njrpa fhq;fpu]pd; 
_____________ mkh;tpy; ghlg;gl;lJ. 

a. fy;fj;jh  b. jpy;yp   c. gk;gha;  
d. nkl;uh];  e. tpilnjhpatpy;iy 

 
39. The Dawn Society (1902) was founded by _______ 

a. K.K. Mitra   b. Satish Chandra 
c. Prithwishchandra Ray  d. Aswini Kumar Dutta 
e. Answer not known 
tpbnts;sp fofj;ij (1902) Njhw;Wtpj;jth; __________ 
a. K.K. kpj;uh   b. rj;jP]; re;jpuh 
c. gphpj;jptp];re;jpu uha;  d. m];tpdp Fkhh; jj;jh 
e. tpil njhpatpy;iy 

 
40. Consider the statements about Swaraj  

I. For Tilak, Swaraj was restricted to Indian Control over 
administration, but not total severance of relation with British 

II. For BC Pal, Swaraj was the attainment of complete freedom from 
any foreign rule 

a. I only true  b. II only true  c. Both are correct  
d. Both are incorrect e. Answer not known 
Rauh[;ak; njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
I. jpyfhpd; $w;Wg;gb> Rauh[;ak; vd;gJ ,e;jpah;fs; fl;Lg;ghl;by; 

eph;thfj;ij nfhz;L tUtNj md;wp Mq;fpNyah;fSf;F 
,ilNaahd cwit Kwpj;Jf;nfhs;tjd;W 

II. gpgpd; re;jpughypd; $w;Wg;gb> Rauh[;ak; vd;gJ me;epah;fsplkpUe;J 
KO tpLjiy ngWtJ 

a. I kl;Lk; rhp  b. II kl;Lk; rhp  c. ,uz;Lk; rhp  

d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 
41. Who was proposed by militant to be the president of INC session (1907)? 

a. BG Tilak   b. Lajpat Rai c. Bipin Chandra Pal 
d. Aurobindo Ghose e. Answer not known 
1907Mk; Mz;bd; ,e;jpa Njrpa fhq;fpu]; khehl;bd; jiytuhf 
jPtputhjpfs; ahiu Kd;nkhope;jdh;? 
a. ghyfq;fhju jpyfh; b. yhyhy[gjp uha; c. gpgpd; re;jpu ghy; 
d. mugpe;Njh Nfh~; e. tpil njhpatpy;iy 
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42. The first Swadeshi dacoity to raise funds was organised in _______ 
a. Durgapur   b. Midnapore  c. Berhampore  
d. Rangpur   e. Answer not known 
epjp jpul;lYf;fhf Kjy; RNjrp nfhs;is eilngw;w ,lk; _______ 
a. Jh;fhg+h;   b. kpl;dhg;g+h;  c. ngh;`hk;g+h;  
d. uq;g+h;   e. tpil njhpatpy;iy 

 
43. Aurobindo Ghose was died at Pondicherry in ______ 

a. 1920  b. 1930    c. 1940  
d. 1950  e. Answer not known 
mugpe;Njh Nfh~; ghz;br;Nrhpapy; ,we;j Mz;L ________ 
a. 1920  b. 1930    c. 1940   
d. 1950  e. tpil njhpatpy;iy 

 
44. The author of the book “Indian Unrest” was _________ 

a. Lala Lajpat Rai  b. Valentine Chirol  c. Tilak 
d. Annie Besant  e. Answer not known 
“Indian Unrest” vd;w Gj;jfj;jpd; Mrphpah; ahh;? 

a. yhyh y[gjp uha; b. thyd;ild; rpNuhy;  c. jpyfh; 
d. md;dp ngrd;l;  e. tpil njhpatpy;iy 

 
45. Which of the following statements are true about the post Sangam age? 

i. Pathinen Keel kanakku texts, include eighteen texts which mostly 
deal with ethics and morel codes. 

ii. The most important of these Thirukkural and Naladiyar. 
iii. Silappathikaram and Manimekalai are the two texts deals with 

Cultural and Religious history. 
a. (i) only True  b. (ii) only True  c. (i), (ii) only True 
d. (i), (iii) only True e. Answer not known 
fPo;fz;l thf;fpaq;fspy; rq;f kUtpa fhyj;jpd; rhpahd $w;W vJ? 
i. gjpndl;L E}y;fis cs;slf;fpa gjpndz;fPo;f;fzf;F E}y;fs; 

ngUk;ghYk; xOf;f newpKiwfisg; gw;wp $WfpwJ. 
ii. mtw;Ws; jpUf;FwSk;> ehybahUk; Kjd;ikahdjhFk;. 
iii. rpyg;gjpfhuKk;> kzpNkfiyAk; gz;ghL kw;Wk; rkaj;ij gw;wp 

$Wfpd;wd. 
a. (i) kl;Lk; rhp  b. (ii) kl;Lk; rhp  c. (i)> (ii) kl;Lk; rhp 
d. (i)> (iii) kl;Lk; rhp e. tpil njhpatpy;iy 

 
46. Which country’s trade prosperity has been described by 

Uruththirangkannanaar in Pattinappaalai, beautifully? 
a. Chozhanaad  b. Pandiyanaad   c. Cheranaad 
d. Kalinganaad  e. Answer not known 
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ve;j ehl;bd; th;j;jfr; nropg;ig fbaY}h; cUj;jpuq;fz;zdhh; vd;w 
jkpo;g;Gyth; ‘gl;bdg;ghiy’ vd;w ,yf;fpaj;jpy; moFw vLj;Jf; 
$wpAs;shh;. 
a. NrhoehL   b. ghz;ba ehL   c. NruehL 
d. fypq;fehL  e. tpilnjhpatpy;iy 

 
47. Match the following 

A. Paari   1. Candeeramalai 
B. Aay Andiran  2. Parambumalai 
C. Nalli   3. Podhiyamalai 
D. Began   4. Pazhanimalai 

A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 2 4 1 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
A. ghhp   1. fz;Bukiy 

B. Ma; mz;bud;  2. gwk;Gkiy 
C. es;sp   3. nghjpa kiy 

D. Ngfd;   4. godpkiy 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 2 4 1 
d. 4 3 2 1 
e. tpilnjhpatpy;iy 

 
48. Among the following Kadaiyezhu Philanthropists who is well known for 

having donated liberally to the musician playing the instrument Veenai? 
a. Thirumudikkaari  b. Valvil ori   c. Nalli 
d. Aay Andiran   e. Answer not known 
fPo;f;fz;l filnaO ts;sy;fspy; aho; kPl;Lk; ghzh;fSf;Fg; ghpR 
toq;fpath; vd;W mwpag;gLgth; ahh;? 
a. jpUKbf;fhhp   b. ty;tpy; Xhp  c. es;sp 
d. Ma; mz;bud;   e. tpilnjhpatpy;iy 

 
49. Which Sangam period poet stated “Pirar thunbaththai tham 

thunbamaagak Karudhi Udhavudhal (Considering the pain and 
unhappiness of other’ as one’s own and helping them. Empathy and 
helping them) 
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a. Nalvettanaar    b. Nallandhuvanaar 
c. Maangudi Marudhanaar  d. Kaniyan Poongkudranaar 
e. Answer not known 
gpwh; Jd;gj;ij jk; Jd;gkhff; fUjp cjTjy; gw;wp Fwpg;gpLk; 
rq;ffhyg;Gyth; ahh;? 
a. ey;Ntl;ldhh;    b. ey;ye;Jtdhh; 
c. khq;Fb kUjdhh;   d. fzpad; g+q;Fd;wdhh; 

e. tpilnjhpatpy;iy 
 
50. Which sangam poet wrote, “Virundhu kandu olikkum thirundaa 

vaazhkai”? 
 
a. Perungkundroorkizhar’  b. Nachchellaiyaar 
c. Adimandhiyaar    d. Nappasaliyaar 
e. Answer not known 
“tpUe;J fz;L xspf;Fk; jpUe;jh tho;f;if” vd tpUe;Njhk;gypd; gz;ghf 
Fwpg;gpLk; rq;fg;Gyth; ahh;? 
a. ngUq;Fd;W}h;f;fpohh;   b. er;nrs;isahh; 
c. Mjpke;jpahh;    d. eg;griyahh; 
e. tpilnjhpatpy;iy 

 
51. What was the intention in writing the Aattruppadai books? 

a. To console those who lost in wars 
b. To sing in praise of the King’s Philanthropy 
c. To sing in praise of the king who won the battle 
d. To sing in praise of hospitality 
e. Answer not known 
Mw;Wg;gil E}y;fs; cUthf;fg;gl;ljpd; Nehf;fk; vd;d? 
a. Nghhpy; Njhw;wth;fis Mw;Wtjw;fhf 
b. murh;fspd; ts;sy;jd;ikiag; ghLtjw;fhf 
c. Nghhpy; ntw;wp ngw;w murid ghLtjw;fhf 
d. tpUe;Njhk;gypd; rpwg;ig ghLtjw;fhf 
e. tpilnjhpatpy;iy 

 
52. In which book do you find the sangam poem: 

“Nalladu seydhal Aatrreer Aayinum 
  Alladhu seydhal Ombumin” 
a. Aganaanooru  b. Puranaanooru  c. Padhittruppaththu 
d. Paripaadal  e. Answer not known 
“ey;yJ nra;jy; Mw;wPh; MapDk; 
my;yJ nra;jy; Xk;Gkpd;” vd;w rq;fg;ghly; ,lk;ngw;Ws;s E}y; vJ? 
a. mfehD}W  b. GwehD}W  c. gjpw;Wg;gj;J 
d. ghpghly;   e. tpilnjhpatpy;iy 
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53. Which book has its central theme as: 
“Good triumphs evil loses” 
a. Thirukkural  b. Villibharatham   c. Moodhurai 
d. Pazhamozhi  e. Answer not known 
“ed;ik nty;Yk; jPik Njhw;Fk;” vd;gJ ve;j E}ypd; ikaf;fUj;J? 
a. jpUf;Fws;  b. tpy;ypghujk;   c. %Jiu 

d. gonkhop   e. tpilnjhpatpy;iy 
 

54. Whose duty is “Nandrum theedhum Aayidhalum, Anbum aranum 
kaaththalum” says Madhuraikaanchi? 
a. Minister  b. The King    c. The Poet   
d. The Security e. Answer not known 
ed;Wk; jPJk; Ma;jYk;> md;Gk; mwDk; fhj;jYk; ahhpd; flik vd 
kJiuf;fhQ;rp tpthpf;fpwJ? 
a. mikr;rh;  b. kd;dh;    c. Gyth; 
d. fhtyh;  e. tpilnjhpatpy;iy 

 
55. Whom did sangam literature praise as, “Illor okkal thalaivan”, “Pasippini 

Maruththuvan”? 
a. Kings    b. Philanthropists   c. the brave 
d. Medical officials (Doctors) e. Answer not known 
“,y;Nyhh; xf;fy; jiytd;” “grpg;gpzp kUj;Jtd;” vd;nwy;yhk; rq;f 
,yf;fpak; ahiug; Nghw;wpaJ? 
a. murh;fs;    b. ts;sy;fs;   c. tPuh;fs; 
d. kUj;Jth;    e. tpilnjhpatpy;iy 

 
56. Find the wrong number in the series: 3, 8, 15, 24, 34, 48, 63 

a. 15  b. 24  c. 34  d. 48 e. Answer not known 
3, 8, 15, 24, 34, 48, 63 vd;w njhlhpy; jtwhd vz;izf; fhz; 
a. 15  b. 24  c. 34  d. 48 e. tpil njhpatpy;iy 

 
57. In what time will ` 8,000 at 3% per annum, produce the same interest as ` 

6,000 does in 5 years at 4% simple interest? 
 a.  5 years   b.  5 ½ years   c.  3 years   

d.  3 ½ years   e.  answer not known 
mry; &. 6>000-f;F 5 Mz;Lfspy; 4% tl;b> tPjj;jpy; fpilf;Fk; 

jdptl;bAk;> mry; 8>000-f;F 3% tl;b tPjj;jpy; fpilf;Fk; jdp tl;bAk; 
rkkhf ,Uf;Fk; vdpy;> mjd; Mz;Lfs; vt;tsthf ,Uf;Fk;?  
a. 5 Mz;Lfs;  b. 5½ Mz;Lfs;   c. 3 Mz;Lfs;   
d. 3½ Mz;Lfs;   e. tpil njhpatpy;iy 
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58. A sum of money becomes eight times at compound interest in 45 years, 
the number of years required to have it doubled is 
a. 11 ¼ years   b. 10 years   c. 15 years 
d. 25 years    e. Answer not known 
xU njhif $l;Ltl;bapy; 45 tUlq;fspy; 8 klq;F Mfpd;wJ vdpy; 
vj;jid tUlq;fspy; ,U klq;F MFk;. 
a. 11 ¼tUlq;fs;   b. 10 tUlq;fs;  c. 15 tUlq;fs; 
d. 25 tUlq;fs;   e. tpil njhpatpy;iy 

 
59. When the digits within the number are multiplied with each other then 

the product of which number set is the lowest? 728, 412, 901, 632 
a. 412  b. 632  c. 728  d. 901    e. Answer not known 
nfhLf;fg;gl;l vz;fspd; ,yf;fq;fis jq;fSf;Fs; ngUf;Fk;NghJ 
fpilf;Fk; njhifapy; ve;j vz;zpd; njhif kpfr; rpwpajhf ,Uf;Fk;? 
728, 412, 901, 632 
a. 412  b. 632  c. 728  d. 901    e. tpil njhpatpy;iy 

 
60. The simple Interest at x% for x years will be Rs. x on a sum of 

 a. Rs. x  b. Rs. 
100

x

 
 
 

   c. Rs. 100 x    

d. Rs. 
2

100

x

 
 
 

  e. Answer not known 

 Mz;Lf;F x% tl;b tPjk; x Mz;LfSf;F & x jdptl;bahf 
 fpilf;fngWk; mry; (njhif) vt;tsT?  

 a. &. x   b. &.  
100

x

 
 
 

    c. &.  100 x   

d. &.  
2

100

x

 
 
 

  e. tpil njhpatpy;iy  

 
61. Match: 

A. Vaagai  1. Defending the wall blockaded by the enemy 
B. Nochchi  2. Adorned by one who is victorious in war 
C. Paadaan  3. King’s fame, sing in praise of generosity 

A B C  
a.  1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 2 3 1 
e. Answer not known 
nghUj;Jf 
A. thif  1. giftuhy; Kw;Wifapl;l kjpiyf; fhj;jy; 
B. nehr;rp  2. Nghhpy; ntw;wp ngw;wth; #LtJ 
C. ghlhz;  3. kd;ddpd; Gfo;> nfhil ghLjy; 
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 A B C  
a.  1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 2 3 1 
e. tpil njhpatpy;iy 

 

62. Which literary piece talks from Vetchi to the Paadaan Eeraga 
(Puraththinaigal) common in them and says even what is not in them? 
a. Thumbai Thinai  b. Paadaanthinai  c. Podhuviyal Thinai 
d. Oozhinai Thinai  e. Answer not known 
ntl;rp Kjy; ghlhz; <whf cs;s Gwj;jpizf;nfy;yhk; nghJthd 
cs;sdTk;> mtw;Ws; $wg;glhjdTk; $WtJ vJ? 
a. Jk;ig jpiz  b. ghlhz;jpid    c. nghJtpay; jpiz 

d. copiQjpid  e. tpilnjhpatpy;iy 
 

63. Match  
A. Mathil Kaappavar (one defending wall)   1. Vagaippoo 
B. Vetri Perubavar (one who is victorious)   2. Uzhignappoo 
C. Aanirai Kavarbavar (one who commits theft of cattle) 3. Vetsippoo 
D. Neirmugappor (face to face on the battlefield)  4. Thumbaippoo 

A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 1 2 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
A. kjpy; fhg;gth;  1. thifg;g+ 

B. ntw;wp ngWgth;  2. copiQg;g+ 
C. Mepiu fth;gth; 3. ntl;rpg;g+ 

D. Neh;Kfg;Nghh;  4. Jk;igg;g+ 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 1 2 
d. 4 3 2 1 
e. tpil njhpatpy;iy 

 

64. In Aaganaanooru, Puranaanooru, Nattrinai, Kurunthogai and 
Iiyinkurunooru the invocation to god is sung by _____ 
a. Perunthevanaar who sang Bhaaratham  b. Seikkizhaaar 
c. Kovillorkizhaar      d. Paanar   
e. Answer not known 
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mfehD}W> GwehD}W> ew;wpiz> FWe;njhif> Iq;FWE}W Mfpa Ie;J 
njhif E}y;fSf;Fk; flTs; tho;j;Jg; ghbath; ahh;?  
a. ghujk; ghba ngUe;Njtdhh;    b. Nrf;fpohh;   
c. NfhtpY}h;fpohh;      d. ghzh;   

e. tpilnjhpatpy;iy 
 
65. Choose the correct answer 

I. After the Sangam period widows lost the special position in society. 
II. Re-marriage was not accepted. 
III. The superstition of considering it a bad omen to see a widow was 

prevalent. 
a. I, II  b. I, II, III c. II, III d. None e. Answer not known 
rhpahd $w;wpidj; Njh;T nra;f 
I. rq;ffhyj;jpw;Fg;gpd; tpjitg;ngz; rKjhaj;jpy; rpwg;G epiyia 

,oe;jhs; 
II. kWkzk; Vw;fg;gltpy;iy 
III. tpjitg; ngz;iz ghh;g;gJ mgrFzkhf ghh;f;fg;gLk; %lek;gpf;if 

,Ue;jJ 
a. I, II    b. I, II, III    c. II, III  
d. vJTkpy;iy  e. tpilnjhpatpy;iy 

 
66. Who said the Sangam period Tamil culture was a blend of Dravidian and 

Aryan culture? 
a. Keeraa    b. K.A. Neelakanda Sastriyaar 
c. Caldwell    d. Swaminathapillai 
e. Answer not known 
rq;ffhyj;jkpo; fyhr;rhuk; jpuhtpl Mhpa fyhr;rhuj;jpd; fyg;G vd;W 
$wpath; ahh;? 
a. fPuh     b. Nf.V. ePyfz;l rh];jphpahh;  
c. fhy;Lnty;   d. Rthkpehj gps;is 
e. tpil njhpatpy;iy 

 
67. Who wrote commentary for the entire Tholkappiyam? 

a. Elampooranar  b. Deivasilaiyaar  c. Kallaadar   
d. Nachchinarkiniyar e. Answer not known 
njhy;fhg;gpak; KOikf;Fk; ciu vOjpath; ahh;?  
a. ,sk;G+uzh;  b. nja;trpiyahh;  c. fy;yhlh;   

d. er;rpdh;fpdpah;   e. tpil njhpatpy;iy 
 

68. Who sang the lines, “Ulladhu sidhaippon oor yenappadaa ar”? 
a. Devakulaththaar   b. Paalaipaadiya Perungkadungo 
c. Eraiyanaar    d. Naaraayanasamy Iyer 
e. Answer not known 
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“cs;sJ rpijg;Nghh; Ch; vdg;glhmh;” 
vd;Dk; ghly; thpfisg;ghbath;  
a. NjtFyj;jhh;    b. ghiyghba ngUq;fLq;Nfh 
c. ,iwadhh;    d. ehuazrhkp Iah;  

e. tpil njhpatpy;iy 
 
69. Who is the author of the following verse, 

‘Konguther Vaazhkkai Anjchirai thumbi 
Kaamam Seppaathu Kandathu Mozhimo’? 
a. Iraiyanaar     
b. Paalaipaadiya Perungkadungko 
c. Bharadhampaadiya Purundevanaar 
d. Devakulaththaar 
e. Answer not known 
‘nfhq;FNjh; tho;f;if mQ;rpiwj; Jk;gp  
fhkk; nrg;ghJ fz;lJ nkhopNkh” vd;Dk; ghly; thpfspd; Mrphpah; ahh;?  
a. ,iwadhh;      b. ghiyghba ngUq;fLq;Nfh  
c. ghujk;ghba ngUe;Njtdhh;   d. NjtFyj;jhh;  
e. tpil njhpatpy;iy 

 

70. Whom does the following poem glorify? 
“Mayakkuru makkalai illorkkup 
Payakkurai illai thaamvaazhum naale” 
a. Illaram  b. Makktperu   c. Virundhombal  
d. Veeram  e. Answer not known 
fPo;f;fz;l ghly; vjd; rpwg;gpidg; ghLfpwJ? 
“kaf;FW kf;fis ,y;Nyhh;f;Fg;  
gaf;Fiw ,y;iy jhk;thOk; ehNs” 
a. ,y;ywk;  b. kf;fl;NgW   c. tpUe;Njhk;gy;  

d. tPuk;  e. tpil njhpatpy;iy 
 

71. Arrange the following Newspaper’s and Journals of Thanthai Periyar in 
Chronological order.  
1. Paguththarivu  2. Viduthalai  3. Kudiarasu   4. Puratchi 
a. 4, 2, 3, 1  b. 3, 4, 1, 2    c. 3, 2, 4. 1  
d. 2, 3, 1, 4  e. Answer not known 
fPo;f;fz;tw;Ws; je;ij nghpahhpd; nra;jpj;jhs;fisAk;>  ,jo;fisAk; 
fhy Kiwg;gb thpirg;gLj;Jf. 
1. gFj;jwpT   2. tpLjiy  3. FbauR  4. Gul;rp  
a. 4, 2, 3, 1  b. 3, 4, 1, 2    c. 3, 2, 4. 1   
d. 2, 3, 1, 4  e. tpil njhpatpy;iy 

 

72. Rettaimalai Srinivasan was born at _______ 
a. Tiruvallur b. Kanchipuram   c. Mayiladuthurai  
d. Dindugal  e. Answer not known 
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nul;ilkiy rPdpthrd; vq;F gpwe;jhh;? 
a. jpUts;@h; b. fhQ;rpGuk;    c. kapyhLJiw  

d. jpz;Lf;fy; e. tpil njhpatpy;iy 
 
73. __________ became the first elected legislative council member from 

depressed classes in Madras Province 
a. Rettaimalai Srinivasan  b. M.C. Rajah  c. Iyothee Thassar 
d. B.P. Wadia   e. Answer not known 
_________ nkl;uh]; khfhzj;jpy; ,Ue;J jho;j;jg;gl;l tFg;igr; Nrh;e;j 
Kjy; rl;lkd;w Nkyit cWg;gpdh; Mthh; 
a. nul;ilkiy rPdpthrd; b. vk;.rp. uh[h  c. mNahj;jp jhrh; 
d. B.P thbah   e. tpil njhpatpy;iy 

 
74. Singaravelar Organised South Indian Railway strike in _________ 

a. 1927  b. 1928    c. 1929   
d. 1930  e. Answer not known 
rpq;fhuNtyh; njd;dpe;jpa ,uapy;Nt NtiyepWj;jj;ij ve;j Mz;L 
elj;jpdhh;? 
a. 1927  b. 1928    c. 1929   
d. 1930  e. tpil njhpatpy;iy 

 
75. ‘Advaidananda Sabha’ was founded by 

a. Iyothee Thassar   b. John Rathinam 
c. Ayyankali   d. Rettamalai Srinivasan 
e. Answer not known 
‘mj;itjhee;j rigia’ Njhw;Wtpj;jth; ahh;? 
a. mNahj;jpjhrh;   b. [hd; uj;jpdk; 
c. ma;ad;fhsp   d. nul;ilkiy =epthrd; 
e. tpil njhpatpy;iy 

 
76. The Magazine ‘Dravida Pandian’ was founded in ________ 

a. 1855  b. 1865   c. 1875   
d. 1885  e. Answer not known 
jpuhtpl ghz;bad; gj;jphpf;if epWtpa Mz;L _________ 
a. 1855  b. 1865   c. 1875   
d. 1885  e. tpil njhpatpy;iy 

 
77. The first conference of ‘Dravida Mahajana Sabha’ was organised at 

a. Nilgiri  b. Ooty    c. Kodaikanal  
d. Yercaud  e. Answer not known 
‘jpuhtpl kfh[d rigapd;’ Kjy; $l;lk; eilngw;w ,lk; _______ 
a. ePyfphp  b. Cl;b    c. nfhilf;fhdy;  
d. Vh;fhL  e. tpil njhpatpy;iy 
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78. Iyothee Thassar’s ‘Oru Paisa Tamilan’ was a _______ journal 
a. Daily    b. Weekly   c. Monthly  
d. Fort nightly   e. Answer not known 
mNahj;jp jhrhpd; ‘xU igrh jkpod;’ xU _____ ,jo; 
a. ehs;    b. thu   c. khj  
d. ,Uthuj;jpw;F xUKiw e. tpil njhpatpy;iy 

 
79. Who founded a hostel, the Dravidian Home, at Triplilane (Madras) in July 

1916? 
a. Sir Pitti Theyagarayar   b. T.M. Nayar  
c. Dr. C. Natesanar  d. Maranimalai Adigal  
e. Answer not known 
jpUty;ypf;Nfzpapy; [Piy 1916 y; jpuhtplh; ,y;yk; vd;w ngahpy; xU 
jq;Fk; tpLjpia epWtpath;. 
a. rh;. gpl;b jpahfuhah;  b. b.vk;. ehah; 
c. Dr. rp. eNlrdhh;  d. kiwkiy mbfs;  
e. tpil njhpatpy;iy 

 
80. Choose the correct statements: 

1. On 20 November 1916 around 30 prominent non-Brahmin leaders 
including Dr. C. Natesanar Sir Pitti Thiyagarayar, T.M. Nair and 
Alamelu Mangai Thayarammal came together to form the South 
Indian Liberation Federation (SILF). 

2. In the meantime, at a meeting held in the Victoria Public Hall the Non-
Brahmin Manifesto was released in June 1916. 

a. 1 only   b. 2 only    c. Both  
d. None   e. Answer not known 
rhpahd $w;iwj; Njh;e;njL:  
1. 1916 etk;gh; 20 ,y; lhf;lh; eNlrdhh; rh; gpl;b jpahfuhah;> b.vk;.ehah; 

kw;Wk; myNkYkq;if jhahuk;khs; cl;gl 30 Kf;fpa gpuhkzh; 
my;yhj jiyth;fs; njd;dpe;jpa ey chpikr; rq;fj;ij cUthf;f 
xUq;fpize;jdh;.  

2. 1916 [{dpy;> tpf;Nlhhpah nghJ muq;fpy; eilngw;w $l;lnkhd;wpy; 
gpuhkzuy;y;yhNjhh; mwpf;if ntspapl;lg;gl;lJ.  

a. 1 rhp   b. 2 rhp    c. ,uz;Lk; rhp 

d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

81. Match the following: 
A. Communal government orders   1. 1921 
B. Staff Selection Board     2. 1924 
C. Public Service commission    3. 1929  
D. Hindhu Religions Endowment Act  4. 1926 
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A B C D 
a. 4 3 2 1 
b. 2 4 3 1  
c. 1 2 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf:  
A. tFg;Gthhp murhiz    1. 1921 
B. gzpahsh; Njh;T thhpak;    2. 1924 
C. nghJg; gzpahsh; Njh;thizak;   3. 1929 
D. ,e;J rka mwepiyar; rl;lk;   4. 1926 

A B C D 
a. 4 3 2 1 
b. 2 4 3 1  
c. 1 2 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
82. Find out the achievements of C. N. Annadurai. 

1. Legalizing self-respect marriage  
2. Introduced 3 language formula 
3. Introduced inter-caste marriage assistance scheme. 
4. Third World Tamil conference was held in Chennai during his tenure 

as CM. 
a. 1, 2, 3    b. 1, 3     c. 1, 3, 4  
d. all of these   e. Answer not known 
C.N. mz;zhJiuapd; rhjidfs; fhz;f. 
1. Rakhpahijj; jpUkzq;fis rl;lg;G+h;tkhf;fpaJ. 
2. Kk;nkhopf; nfhs;if mwpKfk;. 
3. fyg;Gj;jpUkz epjpAjtp jpl;lk; mwpKfk;. 
4. mth; jkpof Kjy;tuhfg; gjtpNaw;w fhyj;jpy; nrd;idapy; %d;whk; 

cyfj; jkpo; khehL eilngw;wJ. 
a. 1, 2, 3    b. 1, 3    c. 1, 3, 4   
d. midj;Jk;  e. tpil njhpatpy;iy 

 
83. Resolution for name change of madras into Tamil Nadu was introduced 

in assembly on _____. 
a. July 18, 1967  b. July 18, 1968  c. January 14, 1969  
d. April 14, 1969  e. Answer not known 
kjuh]; ngaiu ‘jkpo;ehL’ vdg; ngah; khw;wj; jPh;khdk; rl;lrigapy; 
mwpKfg;gLj;jpa ehs;  
a. [_iy 18> 1967  b. [_iy 18> 1968  c. [dthp 14> 1969  
d. Vg;uy; 14> 1969  e. tpil njhpatpy;iy 
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84. Choose incorrect statement regarding Perarignar Anna 
1. He was born on September 15, 1969. 
2. Initially he was in justice party. 
3. He worked as editor of Viduthalai and Malaimani. 
4. he also worked as sub-editor of justice and kudiyarasu. 
a. 1, 2, 3, 4   b. 1 alone    c. 3, 4   
d. none of these  e. Answer not known 
NguwpQh; mz;zhitg; nghWj;J jtwhd $w;Wf;fisf; fhz;f. 
1. mth; nrg;lk;gh; 15> 1969y; gpwe;jhh;. 
2. mth; njhlf;ffhyj;jpy; ePjpf;fl;rpapy; ,Ue;jhh;. 
3. ‘tpLjiy’> ‘khiykzp’ Mfpatw;wpd; Mrphpauhfg; gzpahw;wpdhh;. 
4. ‘[];b];’ (kw;Wk;) ‘FbauR’ Mfpatw;wpd; Jiz Mrphpauhfg; 

gzpahw;wpdhh;. 
a. 1> 2> 3> 4   b. 1 kl;Lk;    c. 3> 4  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
85. Find the literary works of C. N. Annadurai. 

1. Velaikari    2. Latchiya Varalaru 3. Sorgavasal 
4. Nedhidevan Mayakam 5. Rangoon Ratha  
a. 1, 2, 3, 4   b. 2, 3, 4, 5    c. 1, 2, 3, 5  
d. all of these  e. Answer not known 
C.N. mz;zhJiuapd; ,yf;fpag; gq;fspg;G fhz;f. 
1. Ntiyf;fhhp  2. ,yl;rpa tuyhW 3. nrhh;f;f thry;  
4. ePjpNjtd; kaf;fk; 5. uq;$d; uhjh 
a. 1, 2, 3, 4   b. 2, 3, 4, 5    c. 1, 2, 3, 5  
d. midj;Jk;  e. tpil njhpatpy;iy 

 
86. Find the rate of compound interest at which a principal becomes 1.44 

times itself in 2 years. 
a. 20% b. 25% c. 30% d. 40% e. Answer not known 
Xu; mryhdJ> $l;L tl;b Kiwapy; 2 Mz;Lfspy; mijg;Nghd;W 1.44 
klq;F MfpwJ vdpy;> tl;b tPjj;ijf; fhz;f.  
a. 20% b. 25% c. 30% d. 40%     e. tpil njhpatpy;iy
  

87. A boy reads 
3

8
 of a book on one day and 

4

5
 of the remainder on another 

day. If there were 30 pages unread, how many pages did the book 
contain?  
a. 240  b. 300  c. 600  d. 1200 e. Answer not known 
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xU rpWtd; xU Gj;jfj;jpy; 
3

8  
gq;F gf;fq;fis Kjy; ehspYk; 

kPjKs;stw;wpy; 
4

5
 gq;F gf;fq;fis kw;nwhU ehspYk; thrpj;J 

Kbf;fpwhh;. mth; ,d;Dk; thrpf;fhky; ,Uf;f $ba gf;fq;fspd; 
vz;zpf;if 30 vdpy;> Gj;jfj;jpYs;s nkhj;j gf;fq;fs; vt;tsT?  
a. 240  b. 300  c. 600  d. 1200     e. tpil njhpatpy;iy 
  

88. In a certain time, a sum becomes 4 times at the rate of 5% per annum.  At 
what rate of simple interest, the same sum becomes 8 times in the same 
duration? 

a. 
3

11 %
5

  b. 
2

11 %
3

   c. 
3

12 %
5

  

d. 
2

12 %
3

  e. Answer not known  

Fwpg;gpl;l Mz;Lfspy; xU mryhdJ Mz;Lf;F 5% tl;b tPjj;jpy; 4 
klq;fhfpwJ. mNj mryhdJ> mNj Mz;Lfspy; 8 klq;fhf 
Ntz;Lnkdpy; jdptl;b tPjk; vd;d? 

a. 
3

11 %
5

  b. 
2

11 %
3

   c. 
3

12 %
5

  

d. 
2

12 %
3

  e. tpil njhpatpy;iy 

 
89. Find the compound interest on Rs. 15,625 for 9 months at 16% per annum 

compounded quarterly. 
a. Rs. 1851   b. Rs. 1941   c. Rs. 1951  
d. Rs.1961   e. Answer not known 
fhyhz;bw;F xU Kiw tl;b fzf;fpLk; Kiwapy; &.15>625 f;F Mz;bw;F 
16% tl;b tPjj;jpy; 9 khjq;fSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 
a. Rs. 1851   b. Rs. 1941   c. Rs. 1951  
d. Rs.1961   e. tpil njhpatpy;iy 

 

90. Which of the following is NOT prime number?  
a. 31  b. 61   c. 71  d. 91   e. Answer not known 
gpd;tUtdtw;Ws; vJ gfh vz; my;y?  
a. 31  b. 61   c. 71  d. 91       e. tpil njhpatpy;iy 

 

91. First conference of anti -Hindi Agitation was held in _____ on February 
27, 1938. 
a. Kanchipuram   b. Chengalpet   c. Trichy  
d. Salem    e. Answer not known 
Kjy; ,e;jp vjph;g;G Nghuhl;lj;jpd; Kjy; khehL gpg;uthp 27> 1938 y; vq;F 
eilngw;wJ. 
a. fhQ;rpGuk;   b. nrq;fy;gl;L   c. jpUr;rp  
d. Nryk;   e. tpil njhpatpy;iy 
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92. Periyar formed Anti – Hindi army in ____. 
a. 1938  b. 1948    c. 1965   
d. 1966  e. Answer not known 
nghpahu; ,e;jp vjph;g;Gg; gil Jtf;fpa Mz;L 
a. 1938  b. 1948    c. 1965   
d. 1966  e. tpil njhpatpy;iy 

 
93. Who was the commander of Anti – Hindi army formed by Periyar in 

1948? 
a. Periyar    b. C. N. Annadurai    
c. Kalaignar Karunanidhi  d. Maraimalai Adigal   
e. Answer not known 
nghpahuhy; 1948y; Jtf;fg;gl;l ,e;jp vjph;g;Gg; gilapd; jsgjp ahh;? 
a. nghpahh;    b. C.N. mz;zhJiu   
c. fiyQh; fUzhepjp  d. kiwkiy mbfs;  

e. tpil njhpatpy;iy 
 
94. DMK dropped the separate Dravida Nadu demand due to ____. 

a. 16th Amendment act      
b. Lack of people support 
c. Tussle between periyar and C. N. Annadurai   
d. Both b and c  
e. Answer not known 
jpKf> ‘jdpj; jpuhtpl ehL’ Nfhhpf;ifia iftplf; fhuzk; 
a. 16tJ rl;lj;jpUj;jk;       

b. kf;fs; Mjutpd;ik 
c. nghpahh; kw;Wk; mz;zhtpw;F ,ilapyhd Kuz;ghL  
d. b kw;Wk; c ,uz;Lk; 
e. tpil njhpatpy;iy 

 
95. Periyar supported ____ in 1967 election. 

a. K. Kamaraj (INC)  b. C.N. Annadurai (DMK)   
c. Karunanidhi   d. Rajaji (Swatantara Party)  
e. Answer not known 
nghpahh;> 1967 Njh;jypy; _____I Mjupj;jhh; 

a. F. fhkuh[; (INC)  b. C.N. mz;zhJiu (jpKf)  

c. fUzhepjp   d. uh[h[p (Rje;jpuh fl;rp)   
e. tpil njhpatpy;iy 

 
96. Katradhanaal aaya Payanen kol VaalaRivan 

_____ ______ _____ 
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a. natraal Thozhaaar enin b. nilamisai needuvaazh Vaar 
c. Yaantum idumpai ila  d. Porulsaer Pukazhpurindhaar Maattu 
e. Answer not known 
fw;wjdhy; Ma gandd;nfhy; thywptd; 
______ ______ _____ 
a. ew;whs; njhohmh; vdpd; b. epykpir ePLtho; thh; 
c. ahz;Lk; ,Lk;ik ,y  d. nghUs;Nrh; Gfo;Ghpe;jhh; khl;L 
e. tpil njhpatpy;iy 

 
97. What does the word “Visumpu” mean for Thiruvallur in this kural? 

visumpin thuLiveezhin allaalmaR Raange 
pasumpul thalaikaaN paridhu 
a. Vaanam  b. Kadal    c. Nilam  
d. Nilavu  e. Answer not known 
gpd;tUk; Fwspy; ts;Sth; tpRk;G vd vijf; Fwpg;gpLfpwhh;? 
tpRk;gpd; JsptPopd; my;yhy;kw; whq;Nf 
gRk;Gy; jiyfhz;G mhpJ 
a. thdk;  b. fly;    c. epyk; 
d. epyT  e. tpil njhpatpy;iy 

 
98. Choose the opt kural for the following meaning 

The greatness of those who have discovered the properties of both states 
of being, and renounced the world, shines forth on earth (beyond all 
others) 
a. He, who with firmness, curb the five restrains, 

Is seed for soil of yonder happy plains 
b. Their might who have destroyed 'the five', shall soothly tell 

Indra, the lord of those in heaven's wide realms that dwell 
c. Things hard in the doing will great men do; 

Things hard in the doing the mean eschew 
d. Their greatness earth transcends, who, way of both worlds weighed, 

In this world take their stand, in virtue's robe arrayed 
e. Answer not known 
gpd;tUk; nghUSf;Nfw;w Fwisj; Njh;T nra;f 
,k;ikapd; Jd;gj;ijAk; kWikapd; ,d;gj;ijAk; mwpe;J> nka; czh;e;J> 
Mirfs; mWj;J vwpAk; mwj;ijr; nra;jthpd; ngUikNa> ,t;Tyfpy; 
cah;e;J tpsq;FfpwJ. 
a. cundd;Dk; Njhl;bahd; Xiue;Jk; fhg;ghd; 

tundd;Dk; itg;gpw;Nfhh; tpj;jJ 
b. Ie;jtpj;jhd; Mw;wy; mfy;tpRk;G shh;Nfhkhd; 

,e;jpuNd rhYq; fhp 
c. nraw;fhpa nra;thh; nghpah; rpwpah; 

nraw;fhpa nra;fyh jhh; 
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d. ,Uik tifnjhpe;J <z;Lmwk; g+z;lhh; 
ngUik gpwq;fpw;W cyF 

e. tpil njhpatpy;iy 
 

99. Who children gain, that none reproach, of virtuous worth, 
No evils touch them, through the ________ 
a. sev'n-fold maze of birth b. ambrosia  c. more than evil  
d. fortune    e. Answer unknown 
_______ jPait jPz;lh gopgpwq;fhg; 
gz;Gil kf;fl; ngwpd; 
a. vOgpwg;Gk;   b. mkpo;jpDk;  c. jPapDk;  
d. jk;nghUs;   e. tpil njhpatpy;iy 

 
100. Name that one which gives glory and wealth 

a. Penance    b. virtue    c. Charity   
d. wealth of children   e. Answer unknown 
rpwg;igAk; nry;tj;ijAk; jUtJ vJ? 
a. jtk;   b. mwk;   c. jhdk;  
d. kf;fl;NgW  e. tpilnjhpatpy;iy 

 
101. What is the utility of life? 

a. love   b. ethics    c. children   
d. charity  e. Answer not known 
tho;tpd; gadhf ts;Sth; $WtJ _________ 
a. md;G  b. mwk;   c. kf;fl;NgW  
d. nfhil  e. tpil njhpatpy;iy 

 
102. Fill in the blank 

aranenp pattadhae ilvaazhkkai aqdhum 
__________ thillaayin nandru 
a. piranpazhippa  b. norpaarin   c. muyalvaarul 
d. panpum   e. Answer not known 
mwndd;g; gl;lNj ,y;tho;f;if m/Jk; 
_______ jpy;yhapd; ed;W 
a. gpwd;gopg;g  b. Nehw;ghhpd;  c. Kay;thUs; 
d. gz;Gk;   e. tpil njhpatpy;iy 

 
103. Theyvam thozhaaaL kozhunhan thozhudhezhuvaaL 

______ _______ ________ 
a. thinmaiun daagap perin b. peyyenap peyyum mazhai 
c. illaval maanaak kadai  d. enaimaatchith thayinum il 
e. Answer not known  
nja;tk; njhohms; nfhOed; njhOnjOths; 
______ ______ _______ 
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a. jpz;ikcz; lhfg; ngwpd; b. nga;nadg; nga;Ak; kio 
c. ,y;yts; khzhf; fil d. vidkhl;rpj; jhapDk; ,y; 
e. tpil njhpatpy;iy 

 
104. Who sees the _________ affords, 

Why makes he use of ___________ 
a. pleasure kindly speech, harsh repellent words 
b. sorrow increasing, pleasure increasing     
c. harm to others, in this world and 
d. sweet words, mouth of the virtuous 
e. Answer not known 
Nfhbl;l ,lj;ij epug;Gf 

________ ,dpjPd;wy; fhz;ghd; vtd;nfhNyh 
________ toq;F tJ 
a. ,d;nrhy;> td;nrhy;  b. Jd;GWk;> ,d;GWk; 
c. rpWikAs;> ,k;ikAk;  d. ,d;nrhshy;> nrk;nghUs; 
e. tpil njhpatpy;iy 

 
105. The term hospitality means giving food to _________ 

a. Old people   b. Relatives   c. Poor  
d. Unknown people e. Answer not known 
tpUe;Njhk;gy; vd;w nrhy; jk; ,y;yk; Njb tUk; _____ f;F czT mspj;Jr; 
rpwg;G nra;j epiyikiaf; Fwpf;Fk; 
a. KjpNahUf;F  b. cwtpdh;fSf;F  c. twpath;fSf;F  

d. Gjpath;fSf;F  e. tpil njhpatpy;iy 
 

106. Tamil Nadu government has recently launched a school development 
scheme. It is named after, 
a. Perarignar Anna  b. Parasiriyar Anbazhagan 
c. Kalaignar Karunanidhi d. Periyar EVR 
e. Answer not known 
rkPgj;jpy; jkpo;ehL muR gs;sp Nkk;ghl;L jpl;lk; xd;iw njhlq;fpAs;sJ. 
mj;jpl;lk; ahUila epidthf ngahplg;gl;Ls;sJ? 

a. NguwpQh; mz;zh   b. Nguhrphpah; md;gofd; 

c. fiyQh; fUzhepjp  d. nghpahh; <.nt.uh 
e. tpil njhpatpy;iy 
 

107. Identify the correct statements from the following  
1. Pudhumai Penn is a scheme that aims to prevent dropouts among 

women students in higher studies 
2. The scheme is named after Moovalur Ramamirtham Ammaiyar 
3. It is implemented by Social Welfare and Women Empowerment 

Department 
a. 1 only   b. 1 and 2 only  c. 1 and 3 only 
d. All of these  e. Answer not known 
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gpd;tUtdtw;Ws; rhpahd $w;Wfisf; fz;lwpf 
1. ‘GJikg;ngz;’ jpl;lkhdJ cah;fy;tpapy; khztpfspd; ,ilepw;wiyj; 

jLg;gij Nehf;fkhff; nfhz;Ls;sJ. 
2. ,J %tY}h; ,uhkhkph;jk; mk;ikahh; epidthf ngahplg;gl;Ls;sJ. 
3. ,J r%feyk; kw;Wk; ngz;fSf;F mjpfhukspj;jy; Jiwahy; 

nray;gLj;jg;gLfpwJ 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk; c. 1 kw;Wk; 3 kl;Lk; 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

108. Tamil Nadu State Forest Department has inaugurated a DNA sequencing 
facility at 
a. Vandalur   b. Nilgiris    c. Anaimalai 
d. Megamalai  e. Answer not known 
jkpo;ehL khepy tdj;Jiwahy; bvd;V njhluhf;f trjp njhlq;fg;gl;Ls;s 
,lk; 
a. tz;lY}h;   b. ePyfphp    c. Midkiy 

d. Nkfkiy   e. tpil njhpatpy;iy 
 

109. Kerala is the first state to use robotic manhole cleaners called 
a. Mitra   b. Agouti   c. Bandicoot  
d. Ecovac   e. Answer not known 
fopTePh; njhl;bfis Rj;jk; nra;tjw;fhf Nfushthy; Kjd;Kjypy; 
gad;gLj;jg;gLk; NuhNgh 
a. kpj;uh   b. mNfhl;b   c. ghz;b$l; 

d. vNfhNtf;   e. tpil njhpatpy;iy 
 

110. Latest initiative of Ministry of Tourism in 2023 is 
a. Visit india Year 2023 
b. Incredible India 2023 
c. Swadesh Darshan 2023 
d. India for Medical Tourism 2023 
e. Answer not known 
Rw;Wyhj;Jiwahy; 2023,y; nfhz;Ltug;gl;l rkPgj;jpa Kd;ndLg;G 
a. ,e;jpahtpw;F tUif juTk; 2023 
b. tpaj;jF ,e;jpah 2023 
c. ];tNj~; jh;~d; 2023 
d. kUj;Jt Rw;Wyhtpw;fhf ,e;jpah 2023 
e. tpil njhpatpy;iy 
 

111. Consider the following statements 
1. Government of India plans to establish two lakh PACS in the next five 

years 
2. PACS refers to Primary Agricultural Credit Societies 
Which of the above statements is/are true? 
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a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. mLj;j Ie;J Mz;Lfspy; ,uz;L ,yl;rk; PACS – fis epWt 

,e;jpa muR jpl;lkpl;Ls;sJ 
2. PACS vd;gJ Primary Agricultural Credit Socieites (Kjd;ik 

Ntshz; fld; rq;fq;fs;) MFk; 
Nkw;$wpatw;Ws; rhpahdit vJ / vit? 
a. 1 kl;Lk;    b. 2 kl;Lk;   
c. 1 kw;Wk; 2 ,uz;Lk;  d. 1 kw;Wk; 2 ,uz;Lky;y  
e. tpil njhpatpy;iy 
 

112. Recently a powerful 7.8 magnitude earthquake had hit, 
a. Turkey and Syria   b. Nepal and Tibet 
c. Turkey and Iraq   d. Japan and South Korea 
e. Answer not known 
rkPgj;jpy; 7.8 mstpyhd epyeLf;fk; vq;F jhf;fpaJ? 
a. JUf;fp kw;Wk; rphpah  b. Neghsk; kw;Wk; jpngj; 
c. JUf;fp kw;Wk; <uhf;  d. [g;ghd; kw;Wk; njd;nfhhpah 
e. tpil njhpatpy;iy 
 

113. The recent trilateral cooperation initiative of India is between 
a. France and UK  b. Russia and Brazil c. UAE and France 
d. UK and Germany e. Answer not known 
,e;jpahtpd; rkPgj;jpa Kj;jug;G xj;Jiog;G Kaw;rp ve;j ehLfSld; 
njhlq;fg;gl;Ls;sJ? 
a. gpuhd;]; kw;Wk; If;fpa NguuR   
b. ,u~;ah kw;Wk; gpNurpy; 
c. If;fpa muG mkPufk; kw;Wk; gpuhd;];  
d. If;fpa NguuR kw;Wk; n[h;kdp 
e. tpil njhpatpy;iy 
 

114. Identify the correct statements from the following  
1. India has joined the Agriculture Innovation Mission for Climate 

Launched by USA and UK 
2. The mission has 275 partners 
3. It was launched in 2021 
a. 1 and 2 only  b. 1 and 3 only  c. 2 and 3 only  
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; rhpahd $w;Wfisf; fz;lwpf 
1. mnkhpf;fh kw;Wk; If;fpa Nguurhy; njhlq;fg;gl;l fhyepiyf;fhd 

Ntshz; Gj;jhf;f ,af;fj;jpy; ,e;jpah ,ize;Js;sJ 
2. ,jpy; 275 gq;Fjhuh;fs; cs;sdh; 
3. ,J 2021 Mk; Mz;L njhlq;fg;gl;lJ 
a. 1 kw;Wk; 2 kl;Lk; b. 1 kw;Wk; 3 kl;Lk; c. 2 kw;Wk; 3 kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
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115. Which of the following are the components of the scheme PM 
Vishwakarma Kaushal Samman? 
1. Financial Support to Traditional Artisans 
2. Skill training 
3. Knowledge of digital payments 
4. Integration with MSME sector 
5. Formal education to school dropouts from artisans 
a. 1, 2, 3 and 4 only b. 2, 3 and 4 only  c. 2, 4 and 5 only 
d. All of these  e. Answer not known 
gpujkhpd; tp];tfh;kh fT~y; rk;khd; jpl;lj;jpd; Kf;fpa $Wfs; vit? 
1. ghuk;ghpa iftpidQh;fSf;F epjp cjtp  
2. jpwd; gapw;rp 
3. b[pl;ly; gzk; nrYj;Jjy; gw;wpa mwpT 
4. FW rpW eLj;ju njhopw;JiwAld; xd;wpizg;G 
5. gs;spfspy; ,ilepd;w iftpidQh;fSf;F Kiwrhh; fy;tp 
a. 1> 2> 3 kw;Wk; 4 kl;Lk; b. 2> 3 kw;Wk; 4 kl;Lk; 
c. 2> 4 kw;Wk; 5 kl;Lk;  d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
 

116. The present value of an engine is Rs.14,580/-.  What was the worth of the 
engine 3 years before, if the value depreciates at the rate of 10% every 
year? 
a. Rs.15,000  b. Rs.17,000    c. Rs.20,000  
d. Rs.11,000  e. Answer not known 
xU ,ae;jpuj;jpd; jw;Nghija kjpg;G &.14>580/-.  ,jd; kjpg;G xt;nthU 
tUlKk; 10% Fiwe;J tUfpwJ.  %d;W tUlq;fSf;F Kd; 
mt;tpae;jpuj;jpd; kjpg;G vd;d? 
a. Rs.15,000  b. Rs.17,000    c. Rs.20,000  
d. Rs.11,000  e. tpil njhpatpy;iy 

 
117. Find the Simple Interest on Rs. 35,000 at 9% per annum for 2 years. 

a. Rs. 6,300  b. Rs. 6,000   c. Rs. 7,400 
d. Rs. 6,800  e. Answer not known 
&. 35>000-f;F tl;b tPjk; 9% vdpy;> ,uz;L Mz;LfSf;fhd jdp 
tl;biaf;  fhz;f. 
a. &. 6,300  b. &. 6,000   c. &. 7,400 
d. &. 6,800  e. tpil njupatpy;iy 

 

118. Find the compound interest for 
1

2
2

years on Rs. 4,000 at 10% p.a. if the 

interest is compounded yearly. 
a. Rs. 1,024   b. Rs. 1,032   c. Rs. 1,050  
d. Rs. 1,082   e. Answer not known 



 

32 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

&. 4>000 f;F 10% Mz;L tl;bapy;> Mz;Lf;F xUKiw tl;b 

fzf;fplg;gLk; Kiwapy; 
1

2
2
 Mz;LfSf;F fpilf;Fk; $l;Ltl;biaf; 

fhz;f. 
a. &. 1,024   b. &. 1,032    c. &. 1,050  
d. &. 1,082   e. tpil njupatpy;iy 

 
119. The next term in the sequence 1, 8, 9, 64, 25, … is 

a. 144  b. 36  c. 169  d. 216  e. Answer not known 
1> 8> 9> 64> 25> … vd;w njhlhpd; mLj;j cWg;G 
a. 144  b. 36  c. 169  d. 216        e. tpil njhpatpy;iy 
 

120. If Meena given an interest of ` 45 for one year at 9% per annum and she 
has borrowed the amount of ` 4x, then find x 
a. 500  b. 250  c. 125  d. 75  e. Answer not known 
kPdh 9% tl;btPjj;jpy; xUtUlj;jpw;fhd jdptl;b ` 45 jUfpwhh; kw;Wk; 
mth; fldhfg; ngw;w njhif ` 4x vdpy; x-d; kjpg;G fhz;f. 

a. 500  b. 250  c. 125  d. 75  e. tpil njhpatpy;iy 
 

121. The world government summit 2023 was held in 
a. India  b. Dubai    c. Fiji 
d. France  e. Answer not known 
cyf muR cr;rp khehL 2023 eilngw;w ,lk; 
a. ,e;jpah  b. Jgha;    c. gp[p 
d. gpuhd;];  e. tpil njhpatpy;iy 
 

122. The 20th edition of Bio Asia Summit is held in 
a. Imphal   b. Bengaluru  c. Chennai 
d. Hyderabad  e. Answer not known 
gNah Mrpah cr;rp khehl;bd; 20tJ gjpg;G eilngw;w ,lk; 
a. ,k;ghy;   b. ngq;fSU  c. nrd;id 
d. i`juhghj;  e. tpil njhpatpy;iy 
 

123. ISRO has signed a MOU for the training of Gaganyaan astronauts with 
a. IISc 
b. IIT Madras  
c. Indian Institute of Space Science and Technology 
d. IIT Kharagpur 
e. Answer not known 
ffd;ahd; tpz;ntsp tPuh;fSf;F gapw;rp mspg;gjw;fhf ,];NuhTld; 
Ghpe;Jzh;T xg;ge;jk; nra;Js;s epWtdk; 
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a. IISc 
b. IIT nkl;uh]; 
c. ,e;jpa tpz;ntsp njhopy;El;g fy;Y}hp 
d. IIT fuf;g+h; 
e. tpil njhpatpy;iy 
 

124. World’s first satellite based two-way messaging solution has been 
introduced by 
a. Qualcomm  b. Intel    c. AMD 
d. Microsoft   e. Answer not known 
cyfpd; Kjy; nraw;iff;Nfhs; mbg;gilapyhd ,Utop jpwd; nfhz;l 
nra;jpaply; jPh;it mwpKfg;gLj;jpAs;s epWtdk; 
a. Fthy;fhk;  b. ,d;nly;    c. V.vk;.b 
d. ikf;Nuhrhg;l;  e. tpil njhpatpy;iy 
 

125. The ISSF World Cup 2023 was held in 
a. New Delhi  b. Dubai    c. Munich 
d. Cairo   e. Answer not known 
ISSF cyff;Nfhg;ig 2023 eilngw;w ,lk;>  
a. GJnly;yp   b. Jgha;    c. kpa+dpf; 
d. nfa;Nuh   e. tpil njhpatpy;iy 
 

126. Which state has topped in the number of organ donations in 2022? 
a. Tamil Nadu  b. Kerala   c. Telangana 
d. Punjab   e. Answer not known 
ve;j khepyk; 2022Mk; Mz;by; mjpfgl;r cly; cWg;G jhdq;fSld; 
Kjyplj;jpy; cs;sJ? 
a. jkpo;ehL   b. Nfush   c. njYq;fhdh 
d. gQ;rhg;   e. tpil njhpatpy;iy 
 

127. Which of the following statements about Global Quality Infrastructure 
Index 2021 is/are true? 
1. India has been placed at fifth position in terms of accreditation system 
2. India’s overall ranking is 10th out of 184 countries 
3. China has topped the list 
a.  1 and 2 only  b. 1 and 3 only   c. 2 and 3 only 
d. All of these  e. Answer not known 
cyfshtpa ju fl;likg;G FwpaPL 2021 Fwpj;j gpd;tUk; $w;Wfspy; 
rhpahdit vit? 
1. mq;fPfhu mikg;gpd; mbg;gilapy; ,e;jpah Ie;jhtJ ,lj;jpy; cs;sJ 
2. xl;Lnkhj;j juthpirapy; 184 ehLfspy; ,e;jpah 10tJ ,lj;ijg; 

gpbj;Js;sJ  
3. rPdh Kjyplj;jpy; cs;sJ 
a. 1 kw;Wk; 2 kl;Lk; b. 1 kw;Wk; 3 kl;Lk; c. 2 kw;Wk; 3 kl;Lk; 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
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128. The rank of India in Services Trade Restrictiveness Index 2022 is 
a. 48  b. 10  c. 42  d. 47  e. Answer not known 
Nritfs; th;j;jf fl;Lg;ghl;Lf; FwpaPL 2022,y; ,e;jpahtpd; juk; 
a. 48  b. 10  c. 42  d. 47  e. tpil njhpatpy;iy 
 

129. Match the following  
A. International Day of Human Fraternity  1. February 13 
B. Safer Internet Day     2. February 20 
C. World Radio Day     3. February 7 
D. World Day of Social Justice    4. February 4 
 A B C D 
a. 3 1 4 2 
b. 2 4 1 3 
c. 4 3 1 2 
d. 4 2 3 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. kdpj rNfhjuj;Jtj;jpw;fhd rh;tNjr jpdk; 1. gpg;uthp 13 

B. ghJfhg;ghd ,iza jpdk;    2. gpg;uthp 20 
C. cyf thndhyp jpdk;     3. gpg;uthp 7 

D. cyf r%f ePjp jpdk;     4. gpg;uthp 4 
 A B C D 
a. 3 1 4 2 
b. 2 4 1 3 
c. 4 3 1 2 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
 

130. Which day is Commemorated as Indian Coast Guard Day? 
a. February 4  b. February 2   c. February 13 
d. February 1  e. Answer not known 
,e;jpa flNyhu fhty;gil jpdkhf mDrhpf;fg;gLk; ehs; 
a. gpg;uthp 4   b. gpg;uthp 2    c. gpg;uthp 1 
d. gpg;uthp 1   e. tpil njhpatpy;iy 
 

131. Identify the correct statements from the following  
1. World Pulses Day is celebrated on February 10  
2. 2023 is declared as the International Year of Pulses 
a. 1 only   b. 2 only   c. both 1 and 2 
d. neither 1 nor 2  e. Answer not known 
gpd;tUtdtw;Ws; rhpahd $w;Wfisf; fz;lwpf 
1. cyf gUg;G jpdk; gpg;uthp 10 md;W nfhz;lhlg;gLfpwJ 
2. 2023Mk; Mz;L rh;tNjr gUg;G tiffs; Mz;lhf mwptpf;fg;gl;Ls;sJ. 
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a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
 

132. Which of the following products from Tamil Nadu has received GI Tag 
recently? 
1. Vellore spiny brinjal 
2. Ramanathapuram Mundu Chilli 
3. Salem Kolusu 
a. 1 and 2 only  b. 1 and 3 only  c. 2 and 3 only 
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; vit rkPgj;jpy; Gtprhh; FwpaPL milahsk; ngw;w 
jkpo;ehl;ilr; Nrh;e;j nghUl;fs;? 
1. NtY}h; Ks; fj;jphpf;fha; 
2. ,uhkehjGuk; Fz;L kpsfha; 
3. Nryk; nfhYR 
a. 1 kw;Wk; 2 kl;Lk; b. 1 kw;Wk; 3 kl;Lk; c. 2 kw;Wk; 3 kl;Lk; 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

133. Which University from India is declared as the World’s First Living 
Heritage University? 
a. Nalanda University  b. Patna University 
c. University of Madras  d. Visva Bharati University 
e. Answer not known 
cyfpd; Kjy; thOk; ghuk;ghpa gy;fiyf;fofkhf mwptpf;fg;gl;Ls;s 
,e;jpa gy;fiyf;fofk; vJ? 
a. ehye;jh gy;fiyf;fofk; b. ghl;dh gy;fiyf;fofk; 
c. nkl;uh]; gy;fiyf;fofk; d. tp];t ghujp gy;fiyf;fofk; 

e. tpil njhpatpy;iy 
 

134. National Science Day is celebrated every year on February 28th to mark 
the discovery of 
a. Raman’s Effect   b. Bose – Einstein Condensate 
c. Agni Missile   d. Chandrasekhar Limit 
e. Answer not known 
ve;j fz;Lgpbg;igf; Fwpf;Fk; tifapy; xt;nthU Mz;Lk; gpg;uthp 28> 
Njrpa mwptpay; jpdkhf mDrhpf;fg;gLfpwJ? 
a. ,uhkd; tpisT   b. Ngh]; - Id;];ild; nrwpnghUs; 

c. mf;dp VTfiz   d. re;jpuNrfh; tiuaiw 
e. tpil njhpatpy;iy 
 

135. Indian Rice Congress 2023 was held at 
a. Coimbatore  b. Cuttack    c. Imphal 
d. Vijayawada  e. Answer not known 
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,e;jpa ney; khehL 2023 eilngw;w ,lk; 
a. Nfhak;Gj;J}h;  b. fl;lhf;    c. ,k;ghy; 
d. tp[athlh  e. tpil njhpatpy;iy 

 
136. Consider the following statements 

1. The provisions for budget are mentioned in the Article 112 of the 
constitution of India 

2. Financial year in India begins on 1st of April every year 
3. In Parliament, the budget goes through five stages  
Which of the above statements is/are incorrect? 
a. 1 and 3 only  b. 2 only    c. 3 only 
d. none of these  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. gl;n[l; njhlh;ghd tiuaiwfs; ,e;jpa murpayikg;gpd; ruj;J 112 

,y; Fwpg;gplg;gl;Ls;sd. 
2. ,e;jpahtpy; xt;nthU Mz;Lk; Vg;uy; 1 Kjy; epjp Mz;L 

njhlq;FfpwJ. 
3. ghuhSkd;wj;jpy; gl;n[l; Ie;J gbepiyfisf; fle;J nry;fpwJ. 
jtwhd $w;Wfis fz;lwpf 
a. 1 kw;Wk; 3 kl;Lk; b. 2 kl;Lk;    c. 3 kl;Lk; 
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

137. PM Matsya Sampada Yojana is launched to benefit 
a. Fishermen   b. Farmers   c. Transgenders 
d. Street vendors   e. Answer not known 
gpujkhpd; kj;];a rk;gjh jpl;lk; ahUf;F gadspf;Fk; tifapy; 
njhlq;fg;gl;Ls;sJ? 
a. kPdth;fs;    b. tptrhapfs;   

c. %d;whk; ghypdj;Njhh;  d. eilghij tpahghhpfs;  
e. tpil njhpatpy;iy 
 

138. The number of blocks covered under the newly launched Aspirational 
blocks programme is, 
a. 50  b. 100  c. 300  d. 500  e. Answer not known 
Gjpjhf nfhz;Ltug;gl;Ls;s Kd;Ndw;wj;ij ehLk; tl;lq;fs; jpl;lj;jpd;fPo; 
milahsk; fhzg;gl;Ls;s tl;lq;fspd; vz;zpf;if 
a. 50  b. 100  c. 300  d. 500  e. tpil njhpatpy;iy 
 

139. Identify the correctly matched pairs regarding 2023-2024 Budget 
1. Capital Investments Outlay – 3.3% of GDP 
2. Fiscal deficit – 6.4 of GDP 
3. Fiscal deficit allowed to states – 5% of GSDP 
a. 1 and 2 only  b. 1 and 3 only  c. 2 and 3 only 
d. 1 only   e. Answer not known 
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2023-2024 gl;n[l;il nghWj;J rhpahd ,izfisf; fz;lwpf 

1. %yjd KjyPl;L nryT – [p.b.gp.apy; 3.3% 
2. epjp gw;whf;Fiw [p.b.gp apy; 6.4% 
3. khepyq;fSf;F mDkjpf;fg;gl;Ls;s epjp gw;whf;Fiw [pv];bgp apy; 5% 
a. 1 kw;Wk; 2 kl;Lk; b. 1 kw;Wk; 3 kl;Lk; c. 2 kw;Wk; 3 kl;Lk; 
d. 1 kl;Lk;   e. tpil njhpatpy;iy 
 

140. The total investment under GOBAR dhan scheme is 
a. 1,000 crores  b. 5,000 crores  c. 10,000 crores 
d. 20,000 crores  e. Answer not known 
Nfhgh;jd; jpl;lj;jpd; fPo; xJf;fg;gl;Ls;s nkhj;j KjyPL 
a. 1000 Nfhb  b. 5000 Nfhb  c. 10000 Nfhb 
d. 20000 Nfhb  e. tpil njhpatpy;iy 
 

141.  Consider the following statements regarding 2023-2024 Union Budget. 
1. The government is planning to reduce the fiscal deficit to below 2.5% 

by 2025 – 26  
2. The rebate limit in the new income tax regime has been increased to `.7 

lakh 
Which of the above statements is/are true? 
a. 1 only   b. 2 only    c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
2023-24 xd;wpa gl;n[l; Fwpj;j gpd;tUk; $w;Wfis Ma;f 
1. 2025-26 Mk; epjpahz;bw;Fs; epjp gw;whf;Fiwia 2.5% f;Fk; fPo; 

Fiwf;f muR jpl;lkpl;Ls;sJ 
2. Gjpa tUkhd thp tpjpg;G Kiwapd; fPo; thp tpyf;F &.7 ,yl;rj;jpw;F 

cah;j;jg;gl;Ls;sJ 
Nkw;$wpatw;Ws; rhpahd $w;Wfs; vJ? 
a. 1 kl;Lk;    b. 2 kl;Lk;   
c. 1 kw;Wk; 2 ,uz;Lk;  d. 1 kw;Wk; 2 ,uz;Lky;y  
e. tpil njhpatpy;iy 
 

142. Identify the correct statements 
1. The first paperless budget in Tamilnadu was presented in 2021 
2. Tamilnadu is the first state to enact a separate agriculture budget 
3. The fiscal deficit of Tamilnadu in 2021-22 was 4.33% of GSDP 
a. 1 and 2 only  b. 2 only   c. 1 and 3 only 
d. 1 only   e. Answer not known 
rhpahd $w;Wfisj; Njh;f 
1. jkpo;ehL Kjy; fhfpjkpy;y gl;n[l;il 2021 Mk; Mz;L jhf;fy; 

nra;jJ 
2. jdp Ntshz; gl;n[l;ilf; nfhz;L te;j Kjy; khepyk; jkpo;ehL 

MFk;. 
3. 2021-22Mk; epjpahz;by; jkpo;ehl;bd; epjpg; gw;whf;Fiw nkhj;j 

cw;gj;jpapy; 4.33% MFk;. 
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a. 1 kw;Wk; 2 kl;Lk; b. 2 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk; 
d. 1 kl;Lk;   e. tpil njhpatpy;iy 
 

143. In the Tamil Nadu budget 2023-24, the largest fund allocation is to 
a. School Education  b. Social Welfare 
c. Urban development  d. Adi Dravidar / Tribal Welfare 
e. Answer not known 
2023-24 jkpo;ehL gl;n[l;by; mjpfgl;r epjp xJf;fPL nra;ag;gl;l Jiw 
a. gs;spf;fy;tp   b. r%f eyd; 
c. efh;g;Gw tsh;r;rp   d. Mjp jpuhtplh; / goq;Fbapdh; eyd; 
e. tpil njhpatpy;iy 
 

144. To highlight the contributions of Choal dynasty a Chola Museum will be 
set up in 
a. Uraiyur   b. Poompuhar  c. Thanjavur 
d. Jeyamkondam  e. Answer not known 
Nrho kd;dh;fspd; gq;fspg;ig tpsf;Fk; tifapy; ______ ,y; Nrhoh; 
mUq;fhl;rpafk; miof;fg;gLk;. 
a. ciwa+h;   b. g+k;Gfhh;   c. jQ;rht+h; 
d. n[aq;nfhz;lk;  e. tpil njhpatpy;iy 
 

145. Choose the correct statements regarding the Agriculture Budget of 
Tamilnadu 2023-24 
1. A Corpus Fund of Rs.100 crores is provided for Tamilnadu 

Agricultural University 
2. 2 kg of Ragi is to be distributed to family card holders of Coimbatore 

district on a pilot basis. 
3. Nel Jayaraman award for best organic farmer is instituted 
a. 1 only    b. 1 and 2 only  c. 3 only 
d. All of these   e. Answer not known 
2023-24 Mk; epjpahz;bd; jkpo;ehL Ntshz; gl;n[l; Fwpj;j rhpahd 
$w;Wfis Njh;f 
1. jkpo;ehL Ntshz; gy;fiyf;fofj;jpw;F &.100 Nfhb epjp 

xJf;fg;gl;Ls;sJ. 
2. Nfhak;Gj;J}h; khtl;lj;jpy; cs;s FLk;g ml;iljhuh;fSf;F 2 fpNyh 

uhfp Kd;Ndhl;lkhf tpepNahfpf;fg;gl cs;sJ 
3. rpwe;j ,aw;if tptrhapf;fhf ney; n[auhkd; tpUJ 

mwptpf;fg;gl;Ls;sJ. 
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk; c. 3 kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

146. If a sum on compound interest becomes two times in 2 years, then with 
the same interest rate, the sum will become 16 times in... 
a.  5 years             b.  6 years               c.  4 years    
d.  8 years  e. Answer not known 
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$l;L tl;b mbg;gilapy; xU njhif 2 Mz;Lfspy; 2 klq;F MfpwJ 
vdpy;> mNj tl;b tPjj;jpy;> me;jj; njhif vj;jid Mz;Lfspy; 16 
klq;F MFk;? 
a. 5 Mz;Lfs; b. 6 Mz;Lfs;   c. 4 Mz;Lfs;  
d. 8 Mz;Lfs; e. tpil njhpatpy;iy 

 
147. In an examination, a student scores 4 marks for every correct answer and 

loses 1 mark for every wrong answer. If he attempts all 75 questions and 
secures 125 marks, the number of questions he attempts correctly, is 
a. 35  b. 40  c. 42  d. 46  e. Answer not known 
xU Njh;tpy; xU khzth; rhpahd tpil xt;nthd;Wf;Fk; 4 kjpg;ngz;Zk; 
xU jtwhd tpilf;F 1 kjpg;ngz; fopg;gJk; ngWfpwhh;. 75 tpdhf;fSf;F 
tpilaspj;J 125 kjpg;ngz; ngw;why; mth; rhpahf tpilaspj;j tpdhf;fs; 
vj;jid> 
a. 35  b. 40  c. 42  d. 46      e. tpil njhpatpy;iy 

 
148. A sum of money at simple interest amounts to RS. 815 in 3 years and to 

854 in 4 years. The sum is 
a.  Rs. 650  b. Rs. 690   c.Rs. 698    
d. Rs. 700  e. Answer not known 
xU njhif jdptl;bapy; 3 tUlj;jpy; &.815 MfpwJ. mJNt> 4 
tUlj;jpy; &. 854 MfpwJ vd;why;  me;j njhif vt;tsT? 
a. Rs. 650  b. Rs. 690   c. Rs. 698    
d. Rs. 700  e. tpil njhpatpy;iy  

 
149. The population of a town is 126800. It increases by 15% in the first year 

and decreases by 20% in the second year. What will be the size of the 
population at the end of second year? 
a. 135996  b. 145820    c. 174984   
d. 116656  e. Answer not known 
xU efuj;jpd; kf;fs; njhif 126800.  mJ Kjy; Mz;by; 15 rjtPjk; 
mjpfhpj;J> ,uz;lhk; Mz;by; 20 rjtPjk; FiwfpwJ.  ,uz;lhk; Mz;bd; 
Kbtpy; kf;fs; njhif msT vd;d? 
a. 135996  b. 145820    c. 174984   
d. 116656  e. tpil njhpatpy;iy 

 
150. The missing term in the series 9, 225, 16, 196,25, 169, ?,144 

a. 81  b. 121  c. 36  d. 49  e. Answer not known 
njhlhpd; tpLgl;l vz; fhz;f: 9, 225, 16, 196,25, 169, ?,144 
a. 81  b. 121  c. 36  d. 49       e. tpil njhpatpy;iy 
 

 


